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Assignment 5

The due date for submitting this assignment has passed.
As per our records you have not submitted this assignment.

Due on 2020-04-01, 23:59 IST.

1) 1 point

The Solid angle generated in the normal view cone is 60°

A) True
B) False

A
B)

Mo, the answer is incorrect.
Score: 0

Accepted Answers:
Al

2 . . . . i 1 point
! The range of solid angle in the view cone generated during focusing on an poim

object is

A) 18° - 55°
B) 5°-15°
C) 15°-20°
Dy 21°-30°

A
B)
C)
L)

Mo, the answer is incorrect.
Score: 0

Accepted Answers:
B)

3 1 point
: Larger deviation between the view line and body heading line may cause o

cervical injury
A) True
B) False

A
B)

Mo, the answer is incorrect.
Score: 0

Accepted Answers:
Al

4 1 point
] Body heading line refers to the orientation of the head of the viewer pom

A) True
B) False

A
B)

Mo, the answer is incorrect.
acore: 0

Accepted Answers:
B)

a) 1 point
The term Kinaesthesia refers to psycho-physical stimuli of the user in

dynamic situation
A) True
B) False

A
B)

Mo, the answer is incorrect.
acore: 0

Accepted Answers:
Al

6) 1 point
View line must always coincide with the Body heading line for comfortable

visual results
A) True
B) False

A)
B)

Mo, the answer is incorrect.
Score: 0

Accepted Answers:
B)

7 1 point
The primary arrangement of the Front garden of Tajmahal is

A) Uni-axial.
B) Bi-axial.
C) Mulfi-axial..

D) None of the above.

A
B)
C)
L)

Mo, the answer is incorrect.
Score: 0

Accepted Answers:
B)

8) 1 point

Vista does not needs to have a focal point
A) True
B) False

A)
B)

Mo, the answer is incorrect.
Score: 0

Accepted Answers:
B)

2] 1 point

Japanese garden is a perfect example of multi-axial arrangement
A) True
B) False

A)
B)

Mo, the answer is incorrect.
Score: 0

Accepted Answers:
B)

10) 1 point
The domain of the Background in visual experience of a user is boundless

A) True
B) False

A)
B)

Mo, the answer is incorrect.
Score: 0

Accepted Answers:
A)

11) 1 point

Extreme deviation between body heading line and the view line at
horizontal plane may cause cervical stress.

A) True
B) False

A
B)

Mo, the answer is incorrect.
acore: 0

Accepted Answers:
Al

12) . . . . 1 point
Vista needs to have a panoramic visual exposure, whereas, View needs to

have a focal point.

A) True
B) False
Al
B)

Mo, the answer is incorrect.
Score: 0

Accepted Answers:
B)



